AQARSE: 2 7R F —

SRty Y

%%~ 4in

£

LW10
= ==
A—=1N—G AKX ER
Jal)— J-27—4
Bt & il 1-24
ES mFE BER FHEEILFIS/SAIAFEI—A
BHEEER R & AR— RS 1608.0 m
242yt miEE 1337.0 m
BEeE 271.0 m
£k 1271.3 m
]—R’Ram
1XH
d-2tvh— wEBAR
BIEE A I fit
-B- =iE K
-C- H OEE
FEF %K 31(28)
B A B 09:45
Kz Sunny
E=) Hard
A4=F74=9vaRiR 40/ 4.0
JEL  Bib SAJA-F K& 2 g B RAVE
1 46 15 £&IIE— 3 LW10-2 59.90
2 47 17 #iK #its B Lwi0-1 1:08.66
3 42 3 BE SR = F Lwio-1 1:09.68
4 48 19 He #4847 £ )il Lwi0-1 1:14.96
5 45 14 R 2= #MZ=)| LW10-1 1:17.09
6 49 19 A X A )il Lwi10-2 1:18.08
0 Did Not Start
Did Not Finish
-1 43 1 EXR %= dtiEE LwWi10-1
2 44 2 Ik &g ' & Lwio-2
0 Disqualified
HfftRE Wi %
2006-01-15 / EEER / BE 1

Data processing by EPSON

Timing by SEIKO



